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By 1 | 460 (®)+ 92.0 (g/mol) = 5.00% 102 (mol)
2 5.00%102%  mol
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oo | 70k ) COMERL, 0.0500mol THDHH, 44.1(g) + 0.0500 (mol) = 882 (g/mol)
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HIEAICEEND _ERAOHE xBET5E, B 1mol 729 x mol DKL FH
o3 it 5, EUERIETOKE 1mol B2V 224 L 2FHT S &,
3 (2.24 (L) + 22.4 (L/mol)) + (22.0(g) + 882 (gz/mol) ) = 4.01
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KRBT LaNis 1 kg DEFEIZ, 1000/83 cm® ThHh D DT, KEWES O BHEIX
1% = 156.6 = 1.6 X 102 (cm®)
= 1.6 X 10% cm’

(2)

KFAA 1412 14/2=70mol TH Y, FHEIREETIL 22.4x7.0 =156.8 (L) = 156.8 x
10° (cm?) & 72 B, KFEORECHER L, —r = 1.00 x 1073/%
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) HCOOH + NaHCO3 — HCOONa + CO2 + H20
i
® 2MnO4~ + 6 HY + 5HCOOH — 2Mn?* + 5CO2 + 8 H20
TATFE R . "
] T (R 3 L) A DS v K EEER
i [H*] =K. [CH3COOH ] / [ CH3COO™ ]
FHE

#.(2) T [CH3COOT ] =[H"] ¢ T& BT, M3nLY,
[H*]? = Ka [CH3COOH] =2.7 x 1075 x 3.0 x 1072 =81 x 107® (mol/L)?
[H*1=9.0 x 10*mol/L L ¥ pH=4—logj3.0>=4 -2 x 0.48 =3.04

(AUfR) Japs C, BREEE a &35 & [CH3COOH] = C(1-0)=C, [CH3COO™| = [H*] = Ca,
a=(Ka/C)"? = [H]=(CKa)">=9.0 x 10* mol/L — pH=3.04

23 3.04
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X 0.12 v 0.040
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FHE
[H*] = Ka [CH3COOH]/ [CH3CO0O~1=2.7 x 107° x 0.12/0.040 = 81 x 10" mol/L
pH =6 —logi03.0*=6 -4 x 0.48 =4.08

23 4.08
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CH3COOH + NaOH — CH3COONa + H20 &£ v,
0.020 mol/L.  0.010 mol/L. 0
l l !
0.010 mol/L 0 0.010 mol/L
[H*] = Ka [CH3COOH] / [CH3COO0™] =2.7 x 107 x 0.010/0.010 =27 x 1075 mol/L
pH =6 —10g103.0°>=6 —3 x 0.48 = 4,56
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i (1) 92 g (2) 29 % Ml 2 40 °C
1 FEFAi
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WAk Y U ATIRBEIC X DIBEMEOEB /NS,
(2) VR & N LT & 3 TATHIT B BB 0D b,
HE
FiFRSR (1D (ME/Kk4) OB EIE 10.0 g x (160/250)=6.4 g
20°C \Z BV BURMIREIX 20 g/100g KK & D,
5] FAFIAIRICE ENDKOERIL 100gx (6.4g20g)=32¢g
& 32 g
s |7 | # 4 S
® Cu?* + 20H™ — Cu(OH)2
il
@ Cu(OH)2 — CuO + H20
(o
(1 0.077 mol
Eip-
KR L UTHEET B ZEMLIRE (CO2=44.0) ODWMHEIX
i (4.40/44.0) mol — 0.0768 mol = 0.0232 mol ,
) kdBEEEV (L) &T5HE
2 3.0 x 10° Pa x V = 0.0232 mol x 8.3 x 103 Pa-L /(mol'K) x 300 K & ¥
V=0.19L
% 0.19 L
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